AR | rxpmEnRpARLAD &

Hoht &AL 11492 A IE 8% 415 28 4 B
e 02-8797 6658
3 02-8797 6628

RXE I ITHGTEELEGLEE

#Hxa: PERR 110408 A4 24 8

BXFHE 249110 F % 036 5%

#A  Fal

FERABERAM

R © 4o 3L

¥H AQNZRDBRE B4 A% (EAC]) BAEA£110408 A 238 L4 10 :
40 AT RIE T A4y 80 A E IR A 4 RAE HMELP; s L E o N RE
110 %09 A 01 B £ 110 % 11 A 30 8 Mk & %5 (CSLODBROG ) g
E 9% (CS RESOLUTE ) &5 A 7 34 e i 4% it 47 '?*é;pf. 1 ¥ Lk AR B 1 E v
AefR R EWELE  EmAE

aun
pus]

s
.

—~ &K HE 11008 B 03 A 4 Wb % 11002642933 3k & 2000 = ~ LA K %38
AL A 110 F 08 A 18 A At 4 1103103561 38 ofy e s o

— - RBRE-RBE A% (EACI) BAE i;%“%m&%%ﬂ%%%%1%°
38. 595 N 122°24.699'E (KiE# 2 190 R) e

= E) R R RS ARA NG Pﬂ l}JurHui S %ok AR R G
3] ﬂfr-&%ﬁﬂwif# RIER % RBAWIAT PG 5 FRET » Ahcikir
WAR B35 0 B WARE AN ) W AL B AR A A M ey
AT By 438 TA4F -

o EEEEME  ARARM 1104F09 A 01 B4£% 110 F 11 A 30 84k F
MR 2 B0 R G A B AL ~ SLBERT L (SRR ~ E 0 R RN Bk
LR o

Ao M AME LT
R — R 1eram vt (BACL) &% B MO0 4% 45 % B SRE A 3 36 1w )

Fiffb = fa skl A% (BACT) BEE K 15 u- ﬁ?]-ft (AuFi -~ FENE)
ffE= ¢ Bk ( (5 LODBROG ) / &8 3% (CS RESOLUTE ) JEE5as 4618 1 B HLIE G4
fit e - gk (CS LODBROG) /8 &3k (CS RESOLUTE) 4 8 KA IAEAR &

-

ER: NES (R —EMFvw 0 Ty
a$:iﬁ%m%%\%ﬁmaiéé””$%~¥§@ﬁ@‘ﬁﬁ@@ﬁ~ﬁﬁ
Bibe MG Ee (U LEHAME—EME= 65)

S TR
W R

:‘E‘ﬂ&i

\\I\\I!l\llllll\\lI)I\“lll\\II\\\Ill|W|)I\\||lllllllll|\ \

1101215403



